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#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 NS: ZA 2 GHO) -14 2 NS: BRZSF JLRM(BAC) 16 VP:| 3.22 16.78 | Total VP: 14.72 Rank:
EW: BEHEE £52EA0) -16 EW: [R#R BR#I<F(BO) 14 IMP:| 8 32 13
—
# 11 85 3NE-150 Mean: 3NE-4 200 40 1 # 12 » Q972 3NS4 630 Mean: 4SN4 620 7.0 1
v KT652 2NE-4200 60  2NE-4 200 40 1 v AQ42 3NS4 630 320 3NS4 630 7.0 3
¢ A92 Dif: -150 NS:0 3NE-3 150 3.0 1 + Q3 Dif: 0 NS:7 3NS3 600 7.0 6
» 975 IMP: -4 EW:-4 2SW-3 150 3.0 1 & Q85 IMP: 0 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 3HS3 140 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3NN-3 -150 Mean: 3CS3 110 7.0 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3DW3 -110 -190  4HW-1 50 60 1
¢ Ad43 Dif: -480 NS:-4 4HN4 620 80 1 + QJ65 Dif: -40 NS:1  3HW-1 50 60 1
& K975 IMP: -10 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: -1 EW:-2 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXW6 -650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 -300 Mean: 4HW-2 200 10.0 2
v AJ653 2NN-1 -100 -340  3HN-1 100 6.0 1 v3 4SE4 -620 -260 3CN3 110 9.0 1
* K Dif: -550 NS:-7 3DN-1 100 6.0 1 ¢ KT74 Dif: 320 NS:-1  4HW-1 100 80 2
& AK98 IMP: -11 EW:-6 3CS-1 100 6.0 1 & KJT865 IMP: 8 EW:8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 3SS5200 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 -430 Mean: 4SXN4 790 140 1
v K75 4SS5450 380 3NS4 430 20 1 v J4 3NE4 -430 -240 4DW-1 50 70 1
¢ T873 Dif: -250 NS:-5 4SS4 420 1.0 10 ¢ 7642 Dif: 0 NS:-5 3NE-1 50 70 3
& Q53 IMP: -6 EW:-2 4HS4 420 10 1 &2 IMP: 0 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HWS5 -650 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 3NE5 -660 -520  3HW3 140 9.0 1
* Ad Dif: 0 NS:4 4HN4 420 40 8 + AQ9652 Dif: 10 NS:-4 2HW4 170 8.0 1
» 98 IMP: 0 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:4 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
2 NS: B&ST STHINEAC) 16 1 NS: % EE HERE(BO) -14 VP:| 16.78 : 3.22 Total VP: 36.78 Rank:
EW: BE#ES: BEFSF(BEO) 14 EW: REF FiH5E(BAC) 1 IMP:| 32 8 1
—
# 11 485 3NE-1-50 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS4 -630 Mean: 4SN4 620 7.0 1
v KT652 2NE-4-200 60  2NE-4 200 40 1 v AQ42 3NS4 -630 320 3NS4 630 7.0 3
¢ A92 Dif: 150 NS:4  3NE-3 150 3.0 1 + Q3 Dif: 0 NS:7 3NS3 600 7.0 6
» 975 IMP: 4 EW:0 2SW-3 150 3.0 1 & Q85 IMP: 0 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 3HS3 -140 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3NN-3 150 Mean: 3CS3 110 7.0 1
v AT62 4HS4 -620 280  4HS4 620 80 6 v AK7 3DW3 110 -190  4HW-1 50 60 1
¢ Ad43 Dif: 480 NS:8 4HN4 620 80 1 + QJ65 Dif: 40 NS:2 3HW-1 50 60 1
& K975 IMP: 10 EW:4 3SE-3 300 1.0 1 & AQJ7 IMP: 1 EW:-1 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXW6 650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 300 Mean: 4HW-2 200 100 2
v AJ653 2NN-1 100 -340  3HN-1 100 6.0 1 v3 4SE4 620 -260 3CN3 110 9.0 1
+ K Dif: 550 NS:6 3DN-1 100 60 1 + KT74 Dif: -320 NS:-8 4HW-1 100 80 2
& AK98 IMP: 11 EW:7 3CS-1 100 6.0 1 & KJT865 IMP: -8 EW:1 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 3SS5-200 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 430 Mean: 4SXN4 790 140 1
v K75 4SS5 -450 380  3NS4 430 20 1 v J4 3NE4 430 -240 4DW-1 50 70 1
¢ T873 Dif: 250 NsS:2 4Ss4 420 1.0 10 ¢ 7642 Dif: 0 NS:-5 3NE-1 50 70 3
& Q53 IMP: 6 EW:5 4HS4 420 10 1 &2 IMP: 0 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 -420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HWS5 650 Mean: 4HW-1 100 120 2
v AT864 4HN4 -420 270  4HS4 420 40 1 v J2 3NE5 660 -520 3HW3 140 9.0 1
* Ad Dif: 0 NS:4 4HN4 420 40 8 + AQ9652 Dif: -10 NS:-4 2HWA4 170 8.0 1
» 98 IMP: 0 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:4 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
3 NS: S BRIEHT(BHO) -38 1 1 NS: B8 EBR(BAC) 54| VP:| 0.00 20.00 | Total VP: 3.22 Rank:
EW: Big152 BaEEEIC) -54 EW: 8|83 #IEF(BAO) 3 IMP:| 10 75 17
—
# 11 85 2SW-1 50 Mean: 3NE-4 200 40 1 # 12 » Q972 4SS-1 -100 Mean: 4SN4 620 7.0 1
v KT652 2SW-150 60  2NE-4 200 40 1 v AQ42 3NS3 600 320 3NS4 630 7.0 3
¢ A92 Dif: 0 NS:0 3NE-3 150 3.0 1 + Q3 Dif: -700 NS:-9 3NS3 600 7.0 6
» 975 IMP: 0 EW:0 2SW-3 150 3.0 1 & Q85 IMP: -12 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1-100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3DE3 -110 Mean: 3CS3 110 7.0 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3HW4 -170 190  4HW-1 50 60 1
¢ Ad43 Dif: -720 NS:-9 4HN4 620 80 1 + QJ65 Dif: 60 NS:2 3HW-1 50 60 1
& K975 IMP: -12 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: 2 EW:-1 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3DN-1-100 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HXE4 -790 Mean: 4HW-2 200 100 2
v AJ653 3NS-3 -300 -340  3HN-1 100 6.0 1 v3 4HW-2 200 -260 3CN3 110 9.0 1
+ K Dif: 200 NS:6  3DN-1 100 60 1 + KT74 Dif: -990 NS:-11 4HW-1 100 80 2
& AK98 IMP: 5 EW:-1 3CS-1 100 6.0 1 & KJT865 IMP: -14 EW:-10 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 3SS4 170 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 -430 Mean: 4SXN4 790 140 1
v K75 4SS4 420 380 3NS4 430 20 1 v J4 4SXN4 790 -240 4DW-1 50 70 1
¢ T873 Dif: -250 NS:-5 4SS4 420 1.0 10 ¢ 7642 Dif: -1220 NS:-5 3NE-1 50 70 3
& Q53 IMP: -6 EW:-1 4HS4 420 10 1 &2 IMP: -15 EW:-14 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 -50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 2DXN-2 -500 Mean: 4HW-1 100 120 2
v AT864 3SXE-51400 270 4HS4 420 40 1 v J2 4HE4 -620 -520 3HW3 140 9.0 1
* Ad Dif: -1450 NS:-8 4HN4 420 40 8 + AQ9652 Dif: 120 NS:1 2HW4 170 8.0 1
» 98 IMP: -16 EW:-15 3HN3 140 40 1 » 2 IMP: 3 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
4 NS: =S8 Z=H(GH0) 48 9 NS: BR<FR 38 R(BAC) 13 VP:| 17.84 : 2.16 | Total VP: 34.62 Rank:
EW: gt H8EEAC) -13 EW: 8iil55 BRiEF%(BAO) -4 IMP:| 37 : 7 2
—
# 11 485 2SW-2 100 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS3 600 Mean: 4SN4 620 7.0 1
v KT652 2SW-150 60  2NE-4 200 40 1 v AQ42 4SN4 620 320 3NS4 630 7.0 3
¢ A92 Dif: 50 NS:1  3NE-3 150 3.0 1 + Q3 Dif: 20 NS:7 3NS3 600 7.0 6
» 975 IMP: 2 EW:0 2SW-3 150 3.0 1 & Q85 IMP: -1 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 4HN4 620 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3NN-2 -100 Mean: 3CS3 110 7.0 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3CS3110 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:8 4HN4 620 80 1 + QJ65 Dif: -210 NS:3  3HW-1 50 60 1
& K975 IMP: 0 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: -5 EW:-7 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 2SW-1 50 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HW-1 100 Mean: 4HW-2 200 100 2
v AJ653 2NS-2 -200 -340  3HN-1 100 6.0 1 v3 2HE3 -140 -260  3CN3 110 9.0 1
+ K Dif: 250 NS:9 3DN-1 100 60 1 + KT74 Dif: 240 NS:8 4HW-1 100 80 2
& AK98 IMP: 6 EW:-4 3CS-1 100 6.0 1 & KJT865 IMP: 6 EW:-3 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4S5S4 420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 -430 Mean: 4SXN4 790 140 1
v K75 4SS4.420 380 3NS4 430 20 1 v J4 3NE3 -400 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: -30 NS:-5 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: -1 EW:4 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HS4 420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW-1 100 Mean: 4HW-1 100 120 2
v AT864 4HS-1-50 270  4HS4 420 40 1 v J2 3NE6 -690 -520  3HW3 140 9.0 1
* Ad Dif: 470 NS:4 4HN4 420 40 8 + AQ9652 Dif: 790 NS:12 2HW4 170 8.0 1
» 98 IMP: 10 EW:8 3HN3 140 40 1 » 2 IMP: 13 EW:5 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5 1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
5 NS: G30F SLEFEGHO) 29 1 2 NS: Bk = EEBNEE(BAC) -21 VP:| 19.55 : 0.45 Total VP: 28.05 Rank:
EW: S50 FEEIEAC) 21 EW: EE 5&{E(B0) -2 IMP:| 45 : 2 6
—
# 11 » 85 3NE-3 150 Mean: 3NE-4 200 40 1 [[#12 » Q972 3NN3 600 Mean: 4SN4 620 7.0 1
v KT652 3DE3 -110 60  2NE-4 200 40 1 v AQ42 3NS-1-100 320 3NS4 630 7.0 3
¢ A92 Dif: 260 NS:3 3NE-3 150 3.0 1 + Q3 Dif: 700 NS:7 3NS3 600 7.0 6
» 975 IMP: 6 EW:5 2SW-3 150 3.0 1 & Q85 IMP: 12 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS4 620 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW4 -170 Mean: 3CS3 110 7.0 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3HE3 -140 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:8 4HN4 620 80 1 + QJ65 Dif: -30 NS:1  3HW-1 50 60 1
& K975 IMP: 0 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: -1 EW:-2 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3CS-1-100 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 -300 Mean: 4HW-2 200 100 2
v AJ653 3HN-1-100 -340  3HN-1 100 6.0 1 v3 4SE4 -620 -260 3CN3 110 9.0 1
+ K Dif: 0 NS:6 3DN-1 100 60 1 + KT74 Dif: 320 NS:-1  4HW-1 100 80 2
& AK98 IMP: 0 EW:-6 3CS-1 100 6.0 1 & KJT865 IMP: 8 EW:8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
- » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4SS5 450 Mean: 4SS5 450 2.0 3 ||#18 #» K98652 3NE4 -430 Mean: 4SXN4 790 140 1
v K75 4SS4 420 380 3NS4 430 20 1 v J4 3NE3 -400 -240 4DW-1 50 70 1
¢ T873 Dif: 30 NS:2 4ss4 420 1.0 10 ¢ 7642 Dif: -30 NS:-5 3NE-1 50 70 3
& Q53 IMP: 1 EW:-1 4HS4 420 10 1 &2 IMP: -1 EW:4 3NE3 400 40 5
a6 a Q75 3885 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||e A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 3HN3 140 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW-1 100 Mean: 4HW-1 100 120 2
v AT864 4HN-2 -100 270  4HS4 420 40 1 v J2 4HW4 -620 -520  3HW3 140 9.0 1
* Ad Dif: 240 NS:-4 4HN4 420 40 8 + AQ9652 Dif: 720 NS:12 2HW4 170 8.0 1
» 98 IMP: 6 EW:9 3HN3 140 40 1 » 2 IMP: 12 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2  -500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5 1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
6 NS: 221 BEERBH0) 9 1 O NS: 3%k Z/EIB(BAC) 16| VP:| 6.57 13.43| Total VP: 9.79 Rank:
EW: 2R HEREIC) -16 EW: #B{E32 ZBE55(BAO) -9) IMP:| 10 20 15
—
# 11 485 2SW-150 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS-2-200 Mean: 4SN4 620 7.0 1
v KT652 2SW2 -110 60  2NE-4 200 40 1 v AQ42 4SS-1-100 320 3NS4 630 7.0 3
¢ A92 Dif: 160 NS:0 3NE-3 150 3.0 1 + Q3 Dif: -100 NS:-11 3NS3 600 7.0 6
» 975 IMP: 4 EW:5 2SW-3 150 3.0 1 & Q85 IMP: -3 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 3SE-3 300 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW-150 Mean: 3CS3 10 70 1
v AT62 4HS4 620 280  4HS4 620 80 6 v AK7 3HW4 -170 190  4HW-1 50 60 1
¢ Ad43 Dif: -320 NS:1  4HN4 620 80 1 + QJ65 Dif: 220 NS:6  3HW-1 50 60 1
& K975 IMP: -8 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: 6 EW:-1 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3HN-3 -300 Mean: 2SW-1 50 9.0 1 # 16 4 J6 2HW3 -140 Mean: 4HW-2 200 100 2
v AJ653 3HN-2 -200 -340  3HN-1 100 6.0 1 v3 4HW-1 100 -260 3CN3 110 9.0 1
+ K Dif: -100 NS:1  3DN-1 100 60 1 + KT74 Dif: -240 NS:3  4HW-1 100 80 2
& AK98 IMP: -3 EW:-4 3CS-1 100 6.0 1 & KJT865 IMP: -6 EW:-8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE-1 50 Mean: 4SXN4 790 140 1
v K75 4HS4 420 380 3NS4 430 20 1 v J4 3NE-150 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: 0 NS:7 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: 0 EW:-7 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3NE4 -630 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 4HW4 -620 -520  3HW3 140 9.0 1
* Ad Dif: 0 NS:4 4HN4 420 40 8 + AQ9652 Dif: -10 NS:-3 2HW4 170 8.0 1
» 98 IMP: 0 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
7 NS: £Z#5% EEEGHO) -35 8 NS: KB LLRZ(BAC) -12 VP:| 5.72 14.28 | Total VP: 13.87 Rank:
EW: &L B2 EEI0) 12 EW: M E#E 5RIEE(BO) 35 IMP:| 24 : 37 14
—
# 11 485 3DE3 -110 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS3 600 Mean: 4SN4 620 7.0 1
v KT652 2SW-3150 60  2NE-4 200 40 1 v AQ42 3NS3 600 320 3NS4 630 7.0 3
¢ A92 Dif: -260 NS:-5 3NE-3 150 3.0 1 + Q3 Dif: 0 NS:7 3NS3 600 7.0 6
» 975 IMP: -6 EW:-3 2SW-3 150 3.0 1 & Q85 IMP: 0 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1-100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 4HW4 -420 Mean: 3CS3 110 7.0 1
v AT62 2HS4170 280  4HS4 620 80 6 v AK7 4HW4 -420 -190  4HW-1 50 60 1
¢ Ad43 Dif: -270 NS:-9 4HN4 620 80 1 + QJ65 Dif: 0 NS:-6 3HW-1 50 60 1
& K975 IMP: -7 EW:3 3SE-3 300 1.0 1 & AQJ7 IMP: 0 EW:6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3HN-3 -300 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 -300 Mean: 4HW-2 200 100 2
v AJ653 5DXE6 -650 -340  3HN-1 100 6.0 1 v3 6SE6 -1430 -260 3CN3 110 9.0 1
+ K Dif: 350 NS:1  3DN-1 100 60 1 + KT74 Dif: 1130 NS:-1  4HW-1 100 80 2
& AK98 IMP: 8 EW:7 3CS-1 100 6.0 1 & KJT865 IMP: 15 EW:15 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 3NS4 430 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 -400 Mean: 4SXN4 790 140 1
v K75 4SS4 420 380 3NS4 430 20 1 v J4 3NE4 -430 -240 4DW-1 50 70 1
¢ T873 Dif: 10 NS:2 4ss4 420 1.0 10 ¢ 7642 Dif: 30 NS:-4 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: 1 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 -50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3NXWS5 -1150 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 3HW3 -140 -520 3HW3 140 9.0 1
* Ad Dif: -470 NS:-8 4HN4 420 40 8 + AQ9652 Dif: 1010 NS:-12 2HWA4 170 8.0 1
» 98 IMP: -10 EW:-4 3HN3 140 40 1 » 2 IMP: -14 EW:-9 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
8 NS: $hZER &R FC) -12 7 NS: E## X BBE(FO) -34 VP:| 14.28 : 5.72 | Total VP: 19.74 Rank:
EW: HRELHE FRMEE(BHO) 35 EW: HER BEi5(BAC) 12 IMP:| 37 : 24 9
—
# 11 » 85 3DE3 110 Mean: 3NE-4 200 40 1 [[#12 » Q972 3NS3 -600 Mean: 4SN4 620 7.0 1
v KT652 2SW-3-150 60  2NE-4 200 40 1 v AQ42 3NS3 -600 320 3NS4 630 7.0 3
¢ A92 Dif: 260 NS:3 3NE-3 150 3.0 1 + Q3 Dif: 0 NS:7 3NS3 600 7.0 6
» 975 IMP: 6 EW:5 2SW-3 150 3.0 1 & Q85 IMP: 0 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 4HW4 420 Mean: 3CS3 110 7.0 1
v AT62 2HS4 170 280  4HS4 620 80 6 v AK7 4HW4 420 190  4HW-1 50 60 1
¢ Ad43 Dif: 270 NS:-3 4HN4 620 80 1 + QJ65 Dif: 0 NS:-6 3HW-1 50 60 1
& K975 IMP: 7 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: 0 EW:6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3HN-3 300 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 300 Mean: 4HW-2 200 100 2
v AJ653 5DXE6 650 -340  3HN-1 100 6.0 1 v3 6SE6 1430 -260 3CN3 110 9.0 1
+ K Dif: -350 NS:-7 3DN-1 100 60 1 + KT74 Dif: 1130 NS:-15 4HW-1 100 80 2
& AK98 IMP: -8 EW:-1 3CS-1 100 6.0 1 & KJT865 IMP: -15 EW:1  4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 3NS4 -430 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 400 Mean: 4SXN4 790 140 1
v K75 4SS4 -420 380  3NS4 430 20 1 v J4 3NE4 430 -240 4DW-1 50 70 1
¢ T873 Dif: -10 NS:1 4Ss4 420 1.0 10 ¢ 7642 Dif: -30 NS:-5 3NE-1 50 70 3
& Q53 IMP: 0 EW:2 4HS4 420 10 1 &2 IMP: -1 EW:4 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3NXW5 1150 Mean: 4HW-1 100 120 2
v AT864 4HN4 -420 270  4Hs4 420 40 1 v J2 3HW3 140 -520 3HW3 140 9.0 1
* Ad Dif: 470 NS:4 4HN4 420 40 8 + AQ9652 Dif: 1010 NS:9 2HW4 170 8.0 1
» 98 IMP: 10 EW:8 3HN3 140 40 1 » 2 IMP: 14 EW:12 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5 1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
9 NS: BE5F B B EREAC) 13 4 NS: SZ51E =% (F0) 48 VP:| 2.16 17.84| Total VP: 18.94 Rank:
EW: 18055 b (BHO) -48 EW: Rt #a(BAC) 1 IMP:| 7 37 10
—
# 11 » 85 2SW-2 -100 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS3 -600 Mean: 4SN4 620 7.0 1
v KT652 2SW-1-50 60  2NE-4 200 40 1 v AQ42 4SN4 -620 320 3NS4 630 7.0 3
¢ A92 Dif: -50 NS:0 3NE-3 150 3.0 1 + Q3 Dif: 20 NS:7 3NS3 600 7.0 6
» 975 IMP: -2 EW:-1 2SW-3 150 3.0 1 & Q85 IMP: 1 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HN4 -620 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3NN-2 100 Mean: 3CS3 110 7.0 1
v AT62 4HS4 -620 280  4HS4 620 80 6 v AK7 3CS3-110 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:8 4HN4 620 80 1 + QJ65 Dif: 210 NS:7  3HW-1 50 60 1
& K975 IMP: 0 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: 5 EW:-3 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 2SW-1 -50 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HW-1 -100 Mean: 4HW-2 200 100 2
v AJ653 2NS-2200 -340  3HN-1 100 6.0 1 v3 2HE3 140 -260 3CN3 110 9.0 1
+ K Dif: -250 NS:4 3DN-1 100 60 1 + KT74 Dif: -240 NS:3  4HW-1 100 80 2
& AK98 IMP: -6 EW:-9 3CS-1 100 6.0 1 & KJT865 IMP: -6 EW:-8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4S5S4 -420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 430 Mean: 4SXN4 790 140 1
v K75 4SS4 -420 380  3NS4 430 20 1 v J4 3NE3 400 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: 30 NS:-4 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: 1 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HS4 -420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW-1 -100 Mean: 4HW-1 100 120 2
v AT864 4HS-150 270 4HS4 420 40 1 v J2 3NE6 690 -520 3HW3 140 9.0 1
* Ad Dif: -470 NS:-8 4HN4 420 40 8 + AQ9652 Dif: -790 NS:-5 2HWA4 170 8.0 1
» 98 IMP: -10 EW:-4 3HN3 140 40 1 » 2 IMP: -13 EW:-12 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 O NS: €K BREMREAC) 16 6 NS: 21212 27 (FH0) 9 VP:| 13.43 : 6.57 | Total VP: 18.38 Rank:
EW: 13{EE FREE7=(BH0) -9 EW: SRR MEEEIC) 1 IMP:| 20 10 1
—
# 11 485 2SW-1-50 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS-2 200 Mean: 4SN4 620 7.0 1
v KT652 2SW2110 60  2NE-4 200 40 1 v AQ42 4SS-1100 320 3NS4 630 7.0 3
¢ A92 Dif: -160 NS:-5 3NE-3 150 3.0 1 + Q3 Dif: 100 NS:-9 3NS3 600 7.0 6
» 975 IMP: -4 EW:0 2SW-3 150 3.0 1 & Q85 IMP: 3 EW:11  3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 3SE-3 -300 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW-1-50 Mean: 3CS3 110 7.0 1
v AT62 4HS4 -620 280  4HS4 620 80 6 v AK7 3HW4 170 190  4HW-1 50 60 1
¢ Ad43 Dif: 320 NS:8 4HN4 620 80 1 + QJ65 Dif: -220 NS:1  3HW-1 50 60 1
& K975 IMP: 8 EW:-1 3SE-3 300 1.0 1 & AQJ7 IMP: -6 EW:-6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3HN-3 300 Mean: 2SW-1 50 9.0 1 # 16 4 J6 2HW3 140 Mean: 4HW-2 200 100 2
v AJ653 3HN-2200 -340  3HN-1 100 6.0 1 v3 4HW-1-100 -260 3CN3 110 9.0 1
+ K Dif: 100 NS:4  3DN-1 100 60 1 + KT74 Dif: 240 NS:8 4HW-1 100 80 2
& AK98 IMP: 3 EW:-1  3CS-1 100 6.0 1 & KJT865 IMP: 6 EW:-3 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 -420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE-1-50 Mean: 4SXN4 790 140 1
v K75 4HS4 -420 380  3NS4 430 20 1 v J4 3NE-1-50 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: 0 NS:7 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: 0 EW:-7 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 -420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3NE4 630 Mean: 4HW-1 100 120 2
v AT864 4HN4 -420 270  4HS4 420 40 1 v J2 4HW4 620 -520 3HW3 140 9.0 1
* Ad Dif: 0 NS:4 4HN4 420 40 8 + AQ9652 Dif: 10 NS:-3 2HW4 170 8.0 1
» 98 IMP: 0 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5 1150 -12.0 1




o <
2 1132 £ > ABERFLRE ==> R2 2
e e
#1: 2 BLEL(36.78) #2: 4 JEH (34.62) #3: 14 ﬁLT(29 32)
1 1 NS: FiEE BB =EAC) 54 3 NS: #iRRBA BRZEH(BRO) -3 VP:| 20.00 : 0.00 Total VP: 28.50 Rank:
EW: 218 HNEMEE0) 38 EW: BB\ EiE & (BAC) -5 IMP:| 75 10 5
# 11 85 2SW-1 -50 Mean: 3NE-4 200 40 1 # 12 » 097-2 4SS-1 100 Mean: 4SN4 620 7.0 1
v KT652 2SW-1-50 60  2NE-4 200 40 1 v AQ42 3NS3 -600 320 3NS4 630 7.0 3
¢ A92 Dif: 0 NS:0 3NE-3 150 3.0 1 + Q3 Dif: 700 NS:7 3NS3 600 7.0 6
» 975 IMP: 0 EW:0 2SW-3 150 3.0 1 & Q85 IMP: 12 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 |[|a K86 s J4 4SS-1 100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 . J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 a A 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3DE3 110 Mean: 3CS3 10 70 1
v AT62 4HS4 -620 280  4HS4 620 80 6 v AK7 3HW4 170 190  4HW-1 50 60 1
¢ Ad43 Dif: 720 NS:8 4HN4 620 80 1 + QJ65 Dif: -60 NS:1  3HW-1 50 60 1
& K975 IMP: 12 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: -2 EW:-2 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||as KQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3DN-1 100 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HXE4 790 Mean: 4HW-2 200 100 2
v QJ653 3NS-3 300 -340  3HN-1 100 6.0 1 v 3KT74 4HW-2 -200 -260 3CN3 110 9.0 1
. Dif: -200 NS:1  3DN-1 100 6.0 1 . Dif: 990 NS:10 4HW-1 100 80 2
& AK98 IMP: -5 EW:-6 3CS-1 100 6.0 1 & KJT865 IMP: 14 EW:11 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN o, T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 3SS4 -170 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 430 Mean: 4SXN4 790 140 1
v K75 4SS4 -420 380  3NS4 430 20 1 v J4 4SXN4 -790 -240  4DW-1 50 70 1
¢ T873 Dif: 250 NS:1 4Ss4 420 1.0 10 ¢ 7642 Dif: 1220 NS:14 3NE-1 50 70 3
& Q53 IMP: 6 EW:5 4HS4 420 10 1 &2 IMP: 15 EW:5 3NE3 400 40 5
a6 ~ Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 oo VAN 4 Q73
N~~~54'?§2 N 2 ~~3~ ¢ KQT2
S ~~~54 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 2DXN-2 500 Mean: 4HW-1 100 120 2
v AT864 3SXE-5-1400 270  4HS4 420 40 1 v J2 4HE4 620 -520 3HW3 140 9.0 1
* Ad Dif: 1450 NS:15 4HN4 420 40 8 + AQ9652 Dif: -120 NS:-3 2HWA4 170 8.0 1
» 98 IMP: 16 EW:8 3HN3 140 40 1 » 2 IMP: -3 EW:-1 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 2 NS: ¥izkz BEEIEEAC) -21 5 NS: E30& SEUR(FO0) 29 VP:| 0.45 19.55| Total VP: 0.45 Rank:
EW: =R H B&RBEI0) 29 EW: ZpiE F2E(BAC) 21 IMP:| 2 45 18
—
# 11 » 85 3NE-3 -150 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NN3 -600 Mean: 4SN4 620 7.0 1
v KT652 3DE3110 60  2NE-4 200 40 1 v AQ42 3NS-1100 320 3NS4 630 7.0 3
¢ A92 Dif: -260 NS:-5 3NE-3 150 3.0 1 + Q3 Dif: -700 NS:-9 3NS3 600 7.0 6
» 975 IMP: -6 EW:-3 2SW-3 150 3.0 1 & Q85 IMP: -12 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS4 -620 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW4 170 Mean: 3CS3 110 7.0 1
v AT62 4HS4 -620 280  4HS4 620 80 6 v AK7 3HE3 140 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:8 4HN4 620 80 1 + QJ65 Dif: 30 NS:2 3HW-1 50 60 1
& K975 IMP: 0 EW:-8 3SE-3 300 1.0 1 & AQJ7 IMP: 1 EW:-1 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 3CS-1 100 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-2 300 Mean: 4HW-2 200 100 2
v AJ653 3HN-1 100 -340  3HN-1 100 6.0 1 v3 4SE4 620 -260 3CN3 110 9.0 1
+ K Dif: 0 NS:6 3DN-1 100 60 1 + KT74 Dif: -320 NS:-8 4HW-1 100 80 2
& AK98 IMP: 0 EW:-6 3CS-1 100 6.0 1 & KJT865 IMP: -8 EW:1 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4SS5 -450 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE4 430 Mean: 4SXN4 790 140 1
v K75 4SS4 -420 380  3NS4 430 20 1 v J4 3NE3 400 -240 4DW-1 50 70 1
¢ T873 Dif: -30 NS:1 4ss4 420 1.0 10 ¢ 7642 Dif: 30 NS:-4 3NE-1 50 70 3
& Q53 IMP: -1 EW:2 4HS4 420 10 1 &2 IMP: 1 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 3HN3 -140 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW-1 -100 Mean: 4HW-1 100 120 2
v AT864 4HN-2 100 270 4Hs4 420 40 1 v J2 4HW4 620 -520 3HW3 140 9.0 1
* Ad Dif: -240 NS:-9 4HN4 420 40 8 + AQ9652 Dif: -720 NS:-3 2HWA4 170 8.0 1
» 98 IMP: -6 EW:4 3HN3 140 40 1 » 2 IMP: -12 EW:-12 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 3 NS: fEE=(6 BEEIEGHO) -27 1 5 NS: R1I$F BER(BAC) -13 VP:| 7.82 12.18| Total VP: 22.87 Rank:
EW: 8 #E - EEHC) 13 EW: Tt FREEE(FH0) 27 IMP:| 31 : 37 8
—
# 11 485 2SW-150 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS-1-100 Mean: 4SN4 620 7.0 1
v KT652 1NS2120 60  2NE-4 200 40 1 v AQ42 3NS4 630 320 3NS4 630 7.0 3
¢ A92 Dif: -70 NS:0 3NE-3 150 3.0 1 + Q3 Dif: -730 NS:-9 3NS3 600 7.0 6
» 975 IMP: -2 EW:-2 2SW-3 150 3.0 1 & Q85 IMP: -12 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 3SW-2 200 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW4 -170 Mean: 3CS3 110 7.0 1
v AT62 4HS-1-100 280  4HS4 620 80 6 v AK7 4HXW4 -590 -190  4HW-1 50 60 1
¢ Ad43 Dif: 300 NS:-2 4HN4 620 80 1 + QJ65 Dif: 420 NS:1  3HW-1 50 60 1
& K975 IMP: 7 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: 9 EW:9 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXEG6 -650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4SE4 -620 Mean: 4HW-2 200 100 2
v AJ653 5CXS-3 -800 -340  3HN-1 100 6.0 1 v3 3CN3 110 -260 3CN3 110 9.0 1
+ K Dif: 150 NS:-7 3DN-1 100 60 1 + KT74 Dif: -730 NS:-8 4HW-1 100 80 2
& AK98 IMP: 4 EW:10 3CS-1 100 6.0 1 & KJT865 IMP: -12 EW:-9 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 -400 Mean: 4SXN4 790 140 1
v K75 4SS5450 380 3NS4 430 20 1 v J4 4DW-150 -240 4DW-1 50 70 1
¢ T873 Dif: -30 NS:1 4ss4 420 1.0 10 ¢ 7642 Dif: -450 NS:-4 3NE-1 50 70 3
& Q53 IMP: -1 EW:2 4HS4 420 10 1 &2 IMP: -10 EW:-7 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW4 -620 Mean: 4HW-1 100 120 2
v AT864 4HN-2 -100 270  4HS4 420 40 1 v J2 4HW4 -620 -520  3HW3 140 9.0 1
* Ad Dif: 520 NS:4 4HN4 420 40 8 + AQ9652 Dif: 0 NS:-3 2HW4 170 8.0 1
» 98 IMP: 11 EW:9 3HN3 140 40 1 » 2 IMP: 0 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 4 NS: Fis/H BRECMFEO) -5 17 NS: 3RE# AREN(BAC) -36 VP:| 16.18 : 3.82 Total VP: 29.32 Rank:
EW: £25 % H#fER(EAC) 36 EW: #1E %% BRIER(BAO) 5 IMP:| 41 : 20 3
—
# 11 » 85 2SW-2 100 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS3 600 Mean: 4SN4 620 7.0 1
v KT652 2NE-2100 60  2NE-4 200 40 1 v AQ42 4SS-1-100 320 3NS4 630 7.0 3
¢ A92 Dif: 0 NS:1  3NE-3 150 3.0 1 + Q3 Dif: 700 NS:7 3NS3 600 7.0 6
» 975 IMP: 0 EW:-1 2SW-3 150 3.0 1 & Q85 IMP: 12 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS5 650 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3CXS-1-100 Mean: 3CS3 110 7.0 1
v AT62 4HS-1-100 280  4HS4 620 80 6 v AK7 4HW4 -420 -190  4HW-1 50 60 1
¢ Ad43 Dif: 750 NS:9 4HN4 620 80 1 + QJ65 Dif: 320 NS:3  3HW-1 50 60 1
& K975 IMP: 13 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: 8 EW:6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXEG6 -650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-1-100 Mean: 4HW-2 200 10.0 2
v AJ653 5DXW6 -650 -340  3HN-1 100 6.0 1 v3 3HE3 -140 -260 3CN3 110 9.0 1
* K Dif: 0 NS:-7 3DN-1 100 6.0 1 ¢ KT74 Dif: 40 NS:4  4HW-1 100 80 2
& AK98 IMP: 0 EW:7 3CS-1 100 6.0 1 & KJT865 IMP: 1 EW:-3 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4S5S4 420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 -400 Mean: 4SXN4 790 140 1
v K75 2SS4 170 380  3NS4 430 20 1 v J4 3NE4 -430 -240 4DW-1 50 70 1
¢ T873 Dif: 250 NS:1 4Ss4 420 1.0 10 ¢ 7642 Dif: 30 NS:-4 3NE-1 50 70 3
& Q53 IMP: 6 EW:5 4HS4 420 10 1 &2 IMP: 1 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 » J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 -50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3DXN-4 -1100 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 4HW4 -620 -520  3HW3 140 9.0 1
* Ad Dif: -470 NS:-8 4HN4 420 40 8 + AQ9652 Dif: -480 NS:-11 2HWA4 170 8.0 1
» 98 IMP: -10 EW:-4 3HN3 140 40 1 » 2 IMP: -10 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 5 NS: BE17$% BAHEEEIC) -13 1 3 NS: ffiz it EEE(BO) -21 VP:| 1218 : 7.82 Total VP: 26.72 Rank:
EW: #cT-¥ BEESEEEHO) 27 EW: #3{E FF{ZE(BAC) 13 IMP:|, 37 : 31 7
—
# 11 485 2SW-1-50 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS-1 100 Mean: 4SN4 620 7.0 1
v KT652 1NS2-120 60  2NE-4 200 40 1 v AQ42 3NS4 -630 320 3NS4 630 7.0 3
¢ A92 Dif: 70 NS:2 3NE-3 150 3.0 1 + Q3 Dif: 730 NS:7 3NS3 600 7.0 6
» 975 IMP: 2 EW:0 2SW-3 150 3.0 1 & Q85 IMP: 12 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 3SW-2 -200 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3HW4 170 Mean: 3CS3 110 7.0 1
v AT62 4HS-1100 280  4HS4 620 80 6 v AK7 4HXW4 590 -190  4HW-1 50 60 1
¢ Ad43 Dif: -300 NS:-9 4HN4 620 80 1 + QJ65 Dif: -420 NS:-9 3HW-1 50 60 1
& K975 IMP: -7 EW:2 3SE-3 300 1.0 1 & AQJ7 IMP: -9 EW:-1 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXE6 650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4SE4 620 Mean: 4HW-2 200 100 2
v AJ653 5CXS-3 800 -340  3HN-1 100 6.0 1 v3 3CN3 -110 -260 3CN3 110 9.0 1
+ K Dif: -150 NS:-10 3DN-1 100 60 1 + KT74 Dif: 730 NS:9 4HW-1 100 80 2
& AK98 IMP: -4 EW:7 3CS-1 100 6.0 1 & KJT865 IMP: 12 EW:8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 -420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 400 Mean: 4SXN4 790 140 1
v K75 4SS5 -450 380 3NS4 430 20 1 v J4 4DW-1 -50 -240  4DW-1 50 70 1
¢ T873 Dif: 30 NS:2 4ss4 420 1.0 10 ¢ 7642 Dif: 450 NS:7 3NE-1 50 70 3
& Q53 IMP: 1 EW:-1 4HS4 420 10 1 &2 IMP: 10 EW:4 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN4 -420 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 4HW4 620 Mean: 4HW-1 100 120 2
v AT864 4HN-2 100 270 4Hs4 420 40 1 v J2 4HW4 620 -520 3HW3 140 9.0 1
* Ad Dif: -520 NS:-9 4HN4 420 40 8 + AQ9652 Dif: 0 NS:-3 2HW4 170 8.0 1
» 98 IMP: -11 EW:-4 3HN3 140 40 1 » 2 IMP: 0 EW:3 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 6 NS: BE®E &858 (H0) -4 1 8 NS: &4 BREAI(BAC) 27 VP:| 2.84 17.16 | Total VP: 9.70 Rank:
EW: BRS¢ B (EAC) -27 EW: &30 It E(BAO) 4 IMP:| 14 40 16
—
# 11 485 2SW-150 Mean: 3NE-4 200 40 1 |[#12 » Q972 4SN-1-100 Mean: 4SN4 620 7.0 1
v KT652 3NE-4200 60  2NE-4 200 40 1 v AQ42 3NS3 600 320 3NS4 630 7.0 3
¢ A92 Dif: -150 NS:0 3NE-3 150 3.0 1 + Q3 Dif: -700 NS:-9 3NS3 600 7.0 6
» 975 IMP: -4 EW:-4 2SW-3 150 3.0 1 & Q85 IMP: -12 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1-100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 4HW4 -420 Mean: 3CS3 110 7.0 1
v AT62 4HS-1-100 280  4HS4 620 80 6 v AK7 4HW-150 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:-9 4HN4 620 80 1 + QJ65 Dif: -470 NS:-6 3HW-1 50 60 1
& K975 IMP: 0 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: -10 EW:-6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 4DE5 -150 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HE-1 100 Mean: 4HW-2 200 100 2
v AJ653 3HN-3 -300 -340  3HN-1 100 6.0 1 v3 4HW-2 200 -260 3CN3 110 9.0 1
+ K Dif: 150 NS:5 3DN-1 100 60 1 + KT74 Dif: 100 NS:8 4HW-1 100 80 2
& AK98 IMP: 4 EW:-1  3CS-1 100 6.0 1 & KJT865 IMP: -3 EW:-10 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE-150 Mean: 4SXN4 790 140 1
v K75 4SS4.420 380 3NS4 430 20 1 v J4 3NE4 -430 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: 480 NS:7 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: 10 EW:5 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HS-1 -50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 2NE5 -210 Mean: 4HW-1 100 120 2
v AT864 4HN4 420 270  4HS4 420 40 1 v J2 2HW4 -170 -520  3HW3 140 9.0 1
* Ad Dif: -470 NS:-8 4HN4 420 40 8 + AQ9652 Dif: -40 NS:7 2HW4 170 8.0 1
» 98 IMP: -10 EW:-4 3HN3 140 40 1 » 2 IMP: -1 EW:-8 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 7 NS: FRiGH# [ Z8I(EHC) -36 14 NS: ZBRER BRE\(BFO) -5| VP:| 3.82 16.18 | Total VP: 15.32 Rank:
EW: #5iA3% BEAERE(BEO) 5 EW: =5 MER(BAC) 3 IMP:} 20 : 41 12
—
# 11 485 2SW-2 -100 Mean: 3NE-4 200 40 1 |[#12 » Q972 3NS3 -600 Mean: 4SN4 620 7.0 1
v KT652 2NE-2-100 60  2NE-4 200 40 1 v AQ42 4SS-1100 320 3Ns4 630 7.0 3
¢ A92 Dif: 0 NS:1  3NE-3 150 3.0 1 + Q3 Dif: -700 NS:-9 3NS3 600 7.0 6
» 975 IMP: 0 EW:-1 2SW-3 150 3.0 1 & Q85 IMP: -12 EW:-7 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 110 50 2 ||N ~~3 44 v K85
S ~~1~1 +QT 2SW2 110 50 1||S ~~3 44 ¢ KT9
E ~3~1~ &KQT2 E ~~~~~ & AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS5 -650 Mean: 4HS5 650 9.0 1 ||# 14 s 64 3CXS-1100 Mean: 3CS3 110 7.0 1
v AT62 4HS-1100 280  4HS4 620 80 6 v AK7 4HW4 420 190  4HW-1 50 60 1
¢ Ad43 Dif: -750 NS:-9 4HN4 620 80 1 + QJ65 Dif: -320 NS:-6 3HW-1 50 60 1
& K975 IMP: -13 EW:-9 3SE-3 300 1.0 1 & AQJ7 IMP: -8 EW:-3 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 5DXE6 650 Mean: 2SW-1 50 9.0 1 # 16 4 J6 5CXN-1 100 Mean: 4HW-2 200 100 2
v AJ653 5DXW6 650 -340  3HN-1 100 6.0 1 v3 3HE3 140 -260 3CN3 110 9.0 1
+ K Dif: 0 NS:-7 3DN-1 100 60 1 + KT74 Dif: -40 NS:3  4HW-1 100 80 2
& AK98 IMP: 0 EW:7 3CS-1 100 6.0 1 & KJT865 IMP: -1 EW:-4 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 a AT4 4S5S4 -420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE3 400 Mean: 4SXN4 790 140 1
v K75 2SS4 -170 380 3NS4 430 20 1 v J4 3NE4 430 -240 4DW-1 50 70 1
¢ T873 Dif: -250 NS:-5 4SS4 420 1.0 10 ¢ 7642 Dif: -30 NS:-5 3NE-1 50 70 3
& Q53 IMP: -6 EW:-1 4HS4 420 10 1 &2 IMP: -1 EW:4 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HN-1 50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 3DXN-4 1100 Mean: 4HW-1 100 120 2
v AT864 4HN4 -420 270  4Hs4 420 40 1 v J2 4HW4 620 -520 3HW3 140 9.0 1
* Ad Dif: 470 NS:4 4HN4 420 40 8 + AQ9652 Dif: 480 NS:-3 2HW4 170 8.0 1
» 98 IMP: 10 EW:8 3HN3 140 40 1 » 2 IMP: 10 EW:11 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




X AN >\ ¢ —_—
2 1138 FF2ABEREFRE == R 2
1 +
e e
#1: 2 5E55(36.78) #2: 4 JEH (34.62) #3: 14 A. 7 (29.32)
1 8 NS: #Ri45 BREMHEAC) 27 16 NS: REIE €55 (50) 4 VP:| 17.16 : 2.84 Total VP: 29.01 Rank:
EW: R854 o[ ZE(BFO) 4 EW: R3¢ BR#M(BAC) -27 IMP:| 40 14 4
—
# 11 85 2SW-1 -50 Mean: 3NE-4 200 40 1 # 12 » Q972 4SN-1 100 Mean: 4SN4 620 7.0 1
v KT652 3NE-4-200 60  2NE-4 200 40 1 v AQ42 3NS3 -600 320 3NS4 630 7.0 3
¢ A92 Dif: 150 NS:4  3NE-3 150 3.0 1 + Q3 Dif: 700 NS:7 3NS3 600 7.0 6
» 975 IMP: 4 EW:0 2SW-3 150 3.0 1 & Q85 IMP: 12 EW:9 3NN3 600 7.0 1
& AK642 s J3 1NS2 120 2.0 1 ||a K86 s J4 45S-1 4100 9.0 3
v AQ87 v4 2SW-2 100 1.0 2 || J763 I v T9 4SN-1 100 9.0 1
* K4 + J87653 2NE-2 100 1.0 1 ||e AJ7 + 86542 3NS-1 4100 9.0 2
& 63 ~ AJ84 3NE-1 50 00 1 ||s 642 » KJ93 3NS-2 200 -11.0 1
oo VABN 4QT97 2SW-1 50 00 6 o ¢ VAN 4 AT53
N ~~1~1 ¢J93 3DE3 410 50 2 ||N ~~344 ¢ K85
S ~~1~1 +QT 2SW2 410 50 1 ||S ~~3 44 ¢KT9
E ~3~1~ &KQT2 E ~~~~~ ® AT7
W ~2~1~ W ~~~~~
#13 » 92 4HS-1100 Mean: 4HS5 650 9.0 1 ||# 14 s 64 4HW4 420 Mean: 3CS3 110 7.0 1
v AT62 4HS-1100 280  4HS4 620 80 6 v AK7 4HW-1 -50 -190  4HW-1 50 60 1
¢ A43 Dif: 0 NS:-9 4HN4 620 80 1 + QJ65 Dif: 470 NS:6  3HW-1 50 60 1
& K975 IMP: 0 EW:9 3SE-3 300 1.0 1 & AQJ7 IMP: 10 EW:6 3NN-2 100 3.0 1
& J865 N ~ QT74 3SW-2 200 -20 1 ||asKQ ~ AT87 3CXS-1 100 3.0 1
v KQ8 v3 2HS4 170 3.0 1 [|v QJT863 v 52 3HE3 140 2.0 1
¢ QJT -l— + K875 3HS3 140 40 1 ||e K943 ¢ AT72 3DW3 410 20 1
Q42 » T863 4HS-1 100 -90 6 ||a5 » K84 3DE3 410 2.0 1
%o VABN 4 AK3 oo VAN 4 J9532 3NN-3 150 1.0 1
N ~~4~3 ¢J9754 N 2~~~~ »9% 3HW4 170 1.0 4
S ~~4~3 ¢962 S 2~~~~ o8 4HW4 420 -60 4
E ~~~~~ & AJ E ~33~1 &T9632 4HXW4 590 9.0 1
W ~~~~~ W ~33~1
# 15 4 A93 4DE5 150 Mean: 2SW-1 50 9.0 1 # 16 4 J6 4HE-1 -100 Mean: 4HW-2 200 100 2
v AJ653 3HN-3 300 -340  3HN-1 100 6.0 1 v3 4HW-2 -200 -260 3CN3 110 9.0 1
+ K Dif: -150 NS:1  3DN-1 100 60 1 + KT74 Dif: 100 NS:10 4HW-1 100 80 2
& AK98 IMP: -4 EW:-5 3CS-1 100 6.0 1 & KJT865 IMP: 3 EW:-8 4HE-1 100 80 1
& KQT874 A 2NN-1 100 60 1 ||aKQ & A987542 5CXN-1 100 4.0 1
v T72 v KQ4 4DE5 150 50 1 ||v KQ8542 — v 97 3HE3 140 3.0 1
+ AQ83 ¢ JT9754 3HN-2 200 40 1 ||e 9652 * A3 2HW3 140 3.0 1
L) » JT52 2NS-2 200 40 1 ||(a4 » A3 2HE3 140 3.0 1
%o ¢ VAN 4J652 3NS-3 300 1.0 1 FOVAN T3 5CXN-2  -300 -1.0 3
N 3~~~~ 998 3HN-3 300 1.0 3|IN 2~~~~ o AJT6 4SE4 620 -80 3
S 2~~~~ 462 5DXW6 650 70 2||S 21~~~ ¢ QJ8 4HXE4 790 -11.0 1
E ~6~~1 &Q7643 5DXE6 650 -70 3 ||E ~~343 & Q972 6SE6 -1430 150 1
W ~6~~1 5CXS-3 800 -10.0 1 ||W ~~343
# 17 s AT4 4S5S4 -420 Mean: 4SS5 450 2.0 3 ||#18 » K98652 3NE-1-50 Mean: 4SXN4 790 140 1
v K75 4SS4 -420 380  3NS4 430 20 1 v J4 3NE4 430 -240 4DW-1 50 70 1
¢ T873 Dif: 0 NS:1 4SS4 420 1.0 10 ¢ 7642 Dif: -480 NS:-5 3NE-1 50 70 3
& Q53 IMP: 0 EW:-1 4HS4 420 10 1 &2 IMP: -10 EW:-7 3NE3 400 40 5
a6 a Q75 38S5 200 50 1 ||aJT a A4 3NE4 430 -50 8
v QJ83 v T94 3584 170 50 1 ||v A973 | v 865
¢ AK954 + Q6 28s4 170 5.0 1 ¢ KJT83 + AQ95
& T62 ~ J9874 'y » AQT9
¢V ON 4, KJIB32 o ¢VAN 4, Q73
N ~~~54 v A62 N 2 ~~3~ ¢ KQT2
S ~~~54 ¢J2 S 2~~3~ o
E ~~~~~ & AK E ~32~2 aKJ8753
W ~~~~~ W ~32~2
#19 » K752 4HS-1 50 Mean: 3SXE-5 1400 150 1 ||# 20 & QT52 2NE5 210 Mean: 4HW-1 100 120 2
v AT864 4HN4 -420 270  4Hs4 420 40 1 v J2 2HW4 170 -520 3HW3 140 9.0 1
* Ad Dif: 470 NS:4 4HN4 420 40 8 + AQ9652 Dif: 40 NS:8 2HW4 170 8.0 1
» 98 IMP: 10 EW:8 3HN3 140 40 1 » 2 IMP: 1 EW:-7 2NE5 210 7.0 1
4 QT8 & A6 4HS-1 50 80 2 A874 a KJ3 2DXN-2 500 1.0 1
v J752 v 4HN-1 50 80 3 ||v AQ9763 _I_ v T54 4HW4 620 -30 5
¢ 752 + QJT863 4HN-2 100 -90 2 ||e3 * KJT4 4HE4 620 -3.0 1
& J65 » AQ742 K9 » QJ6 3NE4 630 -3.0 1
o ¢ VAN 4J943 FOVABN 4,96 4HW5 650 -40 1
N ~~ 432 ¢ KQ93 N ~~~~~ v K8 3NE5 660 -40 1
S ~~432 +K9 S ~~~~~ ¢ 87 3NE6 690 -50 1
E 24~~~ &KT3 E ~~ 445 & AT87543 3DXN-4  -1100 -11.0 1
W 24~~~ W ~~445 3NXW5  -1150 -12.0 1




